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x 20% = 5.4 x 90% = 3.6

x 50% = 35.5 x10% = 8

x 80% = 6.4 x10% = 10

x 50% = 5.5 x20% = 19.4

x 60% = 30 x 80% = 77.6

x 80% = 38.4 x 60% = 1.8

x 80% = 62.4 x 70% = 50.4

x 80% = 22.4 x 20% = 10.6
x10% =2.8 x 50% =19.5
x30% = 6.9 x 60% = 18.6
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TR o A

27x20% =54

71 x 50% = 35.5

8 x 80% = 6.4

11 x50% = 5.5

50 x 60% = 30

48 x 80% = 38.4

78 x 80% = 62.4

28 x 80% = 22.4

28 x 10% = 2.8

23 x30% = 6.9

H -

4 x90% = 3.6

80 x 10% = 8

100 x 10% = 10

97 x20% = 19.4

97 x 80% = 77.6

3 x60% = 1.8

72 x70% = 50.4

53 x20% = 10.6

39 x 50% = 19.5

31 x60% = 18.6
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